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I test to compare two variances

data: S dataand T data

F=(7?), numdf=199, denomdf=199, p-value=(??)
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:

0.5717414 0.9982810

Two Sample t-test

data: S dataand T data

t=(7?7), df=(?7), p-value=(??)

alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:

-4.6224 -0.6276
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Welch Two Sample t-test

data: S _dataand T data

t=(?7), df=(??), p-value=(?7?)

alternative hypothesis: true difference in means is not equal to 0

95 percent confidence interval:
-4.6225 -0.6275
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Paired t-test

data: S dataand T data

t=-2.813, df=(??), p-value=(??)

alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:

-4.4651 -0.7849
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Call:
Im(formula =y ~ x)

Coefficients:

Estimate Std. Error t value Pr(>|t|)
(Intercept) (?7) (??7) (?7) (?7)
X (?7) (?7) &l (G)

Signifcodes: 0 R 00] *+20.01 **2 0,054 0.1 1

Residual standard error: (??) on (??) degrees of freedom
Multiple R-squared: (?7), Adjusted R-squared: (??)
F-statistic: (A) on (??) and (??) DF, p-value: (7T)
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Call:
Im(formula =y ~ xL + xS + xT)

Coefficients:

Estimate Std. Error t value Pr(>[t])
(Intercept) 70.4 (77) ***
xL -6.7 (77 Hak
xS 10.8 (77) sk
xT 8.2 (27) *u*

Signif. codes: 0 “****(.001 ****(0.01 *** 0.05°.” 0.1 “° 1

Residual standard error: (J&) on (Ts) degrees of freedom

Multiple R-squared: 0.4417, Adjusted R-squared: 0.4352
F-statistic: 67.51 on (77) and (??) DF, p-value: <2.2e-16

Call:
Im(formula =y ~ -1 +xL + xS + xT + xW)

Coefficients:

Estimate Std. Error t value Pr(>|t))
xL (??) )
xS (?7) (77) e
xT (&) (77) ok
xW (?77) (72) ek

Signif. codes: 0 “**#>(0.001 “***0.01 “**0.05°70.1°"1

Residual standard error; (FF) on (??) degrees of freedom
Multiple R-squared: 0.9882, Adjusted R-squared: (?77)
F-statistic: 5380 on (F) and (%) DF, p-value: <2.2e-16
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Suppose that a new drug (A) has been approved to treat a life-threatening disease. The demand
for that drug is shown on the accompanying graph by demand curve A. Prior to approval of this
drug, the only treatment for this condition was any one of several nonprescription, or over-the-
counter, pain relievers. The demand for one brand of the several nonprescription pain relievers is
also shown on the graph as demand curve B. The manufacturer of the new drug would

total revenue by increasing the price from $15 to $16.

¢] 160 200 300 400 500 629
Cuantity

increase

decrease

experience no change in
experience an uncertain change in

Refer to the accompanying figure. Let & denote the price elasticity of demand at point X. Which
of the following describes the relationship between g4, eg, and ec?

N

Price

Quantity

EA~ EC~ EB

EAZ EB~ EC

EC> EB> €A

EB> EC> €A

Joaquin’s marginal utility from an additional slice of pumpkin pie is 4 utils and his marginal

utility from an additional slice of pecan pie is 6 utils. If a slice of pumpkin pie costs $2.50, and a
slice of pecan pie costs $3, then Joaquin

should reallocate his spending towards pumpkin pie and away from pecan pie.

should reallocate his spending towards pecan pie and away from pumpkin pie.

is maximizing his utility.

should spend more on pumpkin pie and more on pecan pie.

When Lorenzo eats 1 slice of pizza for lunch, his total utility is 23, and when he eats 2 slices of

HAHEEHE  FEUEATOATAMA
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pizza for lunch, his total utility is 42. Assuming that Lorenzo's marginal utility from eating pizza
is always positive, we can infer that his total utility from eating 3 slices of pizza at lunch is

A) greater than 42 and less than 84.

B) greater than 42 and less than 46.

C) greater than 42 and less than 61.

D) greater than 23 and less than 42.

5. Suppose your economics professor has an extra copy of a textbook that he or she would like to
give to a student in the class. The scheme that is the most likely to result in an efficient outcome
is

A) randomly selecting one student to receive the textbook.

B) auctioning off the textbook to the highest bidder.

C) letting students take turns using the textbook.

D) giving the textbook to the student who has the lowest midterm score.

6. Serena has been waiting for Spider-Man: No Way Home to come to her local movie theater. When
it finally does come, tickets cost $6. Serena's reservation price is $7.5. But when Serena tries to
buy a ticket, they are sold out. Suppose Sven was able to purchase a ticket at the box office for
$6. Sven's reservation price for the ticket is $6.5. If Sven attends the movie and Serena does not,
then this situation is

A) inefficient because Sven and Serena could have made a mutually beneficial trade.

B) efficient because Sven paid less for the ticket than his reservation price.

C) efficient because Sven arrived at the ticket counter before the show was sold out.

D) inefficient because Serena would have enjoyed the show too.

7. A good is characterized by network economies if it
A) can be used by more than one person at a time.

B) becomes cheaper to produce as more people buy it.
C) becomes more valuable as more people own it.

D) is widely advertised on television.

8. Hotelling's model has been used to describe differentiation in the political "market." Suppose that
100 voters are evenly distributed between the extreme left and the extreme right on the political
spectrum, and that all voters vote, and they always vote for the candidate closest to them on this
spectrum. The numbers on this spectrum represent the number of voters lying to the left of the
number. So, at the midpoint, 50 voters lie to the left and 50 to the right.

Extreme Left Extreame Right
X X Z

L L L 1

0 25 50 75 100

If Candidate X is running for office against Candidate Z, then
A) all voters to the left of Z will vote for X, and all voters to the right of Z will vote for Z.
B) all voters who would have voted for Y will vote for X.
C) Candidate Z will win.
D) Candidate X might win.

9. P-TV and QRS-TV are trying to decide whether to air a sitcom or a reality show in a given time
slot. Viewers like both sitcoms and reality shows, but sitcoms are more expensive to produce than
reality shows since real actors need to be hired. QRS-TV makes its decision first, and then P-TV
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observes that choice before making its decision. Both stations know all of the information in the
accompanying decision tree.

ills 1
PTV Sitcom -$5 million for QRS-TV

chooses -55 million for P-TV

+$5 million for QRS-TV
+$20 million for P-TV

Sitcom

Reality

QRS-TV

hogses
chooses +$20 million for QRS-TV

+455 million for P-TV

Sitcom
Reality

P.TV

+$10 million for QRS-TV
Reality

higuses 1$10 million for P-TV

Suppose QRS-TV enters into an agreement with P-TV that gives QRS-TV the exclusive right to
air a reality show during this time slot. QRS-TV would have to pay P-TV in order to
persuade P-TV to enter into this agreement.

A) at least $10 million

B) nothing

C) atleast $5 million

D) more than zero, but less than $5 million

10. The following data show the relationship between the number of drivers who leave for work at 8
a.m., their average commute time, and their marginal benefit of commuting.

Number of Drivers Average Marginal
Who Leave at 8 a.m. Commute Time Benefit
100 30 minutes $ 10
200 65 minutes 8
300 110 minutes 4
400 170 minutes 3
500 260 minutes 1
[f there is no charge to use the highway, then one would expect that than the socially

optimal number of drivers will leave at § a.m. because

A) more; each driver’s use of the highway imposes an external cost on other drivers by increasing
the commute time

B) more; the social marginal benefit of using the highway is greater than the private marginal
benefit

C) less; each driver’s use of the highway imposes an external cost on other drivers by increasing the
commute time

D) less; the private marginal benefit of using the highway is greater than the social marginal benefit

11. Kate and Ali can live together in a two-bedroom apartment for $600 per month, or they can each
rent a one-bedroom apartment for $400 per month. Apart from the rent, they are indifferent
between living together and living apart, except for one problem: Kate hates Ali's taste in music.
Kate would be willing to pay up to $100 a month to avoid hearing Ali's music. Ali would give up
listening to her music for no less than $300 per month. Which, if any, of the following ways

HAEAMEHT > FEEF EAT A
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of splitting the total monthly rent would induce them to live together?
A) Kate pays $150 per month and Ali pays $450 per month
B) Kate pays $250 per month and Ali pays $350 per month
C) Kate pays $375 per month and Ali pays $125 per month
D) There is no way to split the rent to induce them to live together.

12. There are two employers in Bucolic that hire people who do not have a high school degree: a
grocery store and a hardware store. The grocery store pays $10 per hour and the hardware store
pays $12 per hour. People who work at either store can work as many hours as they want at those
wages. Assume that it takes two hours to interview for a job. Lee works at the grocery store but
would like to work at the hardware store. If Lee interviews at the hardware store, there is a 10
percent probability of being hired. Assume that Lee is risk-neutral. How many hours must Lee
anticipate working at the hardware store to justify interviewing for the job?

A) 1 hour

B) 10 hours

C) 100 hours

D) 60 hours

13. Espresso Yourself Coffee Shop hires workers in a competitive labor market to make coffee. The
ingredients required to make each cup of coffee cost 50 cents. The coffee shop’s hourly output of
coffee varies with the number of workers hired, as shown in the accompanying table. Each cup of
coffee sells for $2.00. The most the coffee shop would be willing pay the third worker is

per hour.
Number of workers Coffee (cups/hour)

0 0

1 23

2 45

3 60

4 70

5 15

6 78
A) $60.00
B) $45.00
C) $22.50
D) $15.00

14. Suppose the market consists of three individuals: Citizen A, Citizen B, and Citizen C.
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Citizen A's Demand Citizen 8's Demand Citizen C's Demand

If the good shown on the graphs is a public good, and the marginal cost of providing each unit is

RAFHEAHUY  FYEBTORTAA




Baf LAk% 111l L45ERIHERALAR IR AL L RIAA

FBALM BRZ [MERALHELEM] RAHR - 443004
>:<$ﬂ§ﬁ{ﬁ§ﬁﬁ5€ FZ:W—LXJ ‘fiﬁﬂ%‘}'ﬁ_%(}%é\ﬁg) %9 E%& 5 E

A)
B)
C)
D)

A)
B)
C)
D)

16

A)
B)
C)
D)

17
A)
B)
)
D)

18
A)
B)
C)
D)

19
A)
B)
C)
D)

20
A)
B)
©)
D)

21

constant and equal to $5, then what is the optimal quantity of the public good?
50 units

40 units

30 units

20 units

15. A rise in the real exchange rate is called

a real depreciation.
a real appreciation.
a real bargain.

a real devaluation.

. The idea that new policies change the economic rules and affect economic behavior, so that no
one can safely assume that historical relationships between variables will hold when policies
change, is known as

Okun's Law.

Say's Law.

the equation of exchange.
the Lucas critique.

. When the economy goes into a recession, there's an increase in
frictional unemployment.
structural unemployment.
cyclical unemployment.
voluntary unemployment.

. Which of the following forms of unemployment probably imposes the greatest personal costs?
Frictional unemployment
Structural unemployment
Cyclical unemployment
Voluntary unemployment

. One cost of a perfectly anticipated inflation is that it
transfers wealth from lenders to borrowers.
transfers wealth from borrowers to lenders.
increases menu costs.
damages the role of prices as signals in the economy.

. When actual inflation is greater than expected inflation,
the natural rate of unemployment rises, according to Phillips-curve analysis.
cyclical unemployment rises, according to Phillips-curve analysis.
there are transfers from borrowers to lenders.
there are transfers from lenders to borrowers.

. The graph plotting the tax rate on the horizontal axis and tax revenues on the vertical axis, which
was used by supply-side economists to suggest that tax rates were too high, in known as the

A) Beveridge curve.
B) Phillips curve.
C) Taylor rule.

D) Laffer curve.
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22. In which case would you be most likely to expect inflation to occur?

A) The government runs a sustained government deficit by lowering taxes.

B) The government runs a sustained government deficit by increasing purchases.
C) The government runs a sustained primary deficit by increasing purchases.

D) The government funds its sustained deficit by increasing the money supply.

23. At a given output level, a temporary reduction in government purchases will
A) increase desired saving, causing the IS curve to shift down and to the left.
B) increase desired saving, causing the IS curve to shift up and to the right.

C) decrease desired saving, causing the IS curve to shift down and to the left.
D) decrease desired saving, causing the IS curve to shift up and to the right.

24. A decrease in the effective tax rate on capital would cause the IS curve to
A) shift up and to the right.
B) shift down and to the left.

C) remain unchanged.
D) remain unchanged if taxes are fully deductible from income; otherwise, shift up and to the right.

25. Looking only at the asset market, an increase in output would cause
A) the LM curve to shift down and to the right.

B) the LM curve to shift up and to the left.

C) an increase in the real interest rate along the LM curve.

D) adecrease in the real interest rate along the LM curve.

26. A change that increases real money demand relative to the real money supply causes
A) the LM curve to shift down and to the right.

B) the LM curve to shift up and to the left.

C) the IS curve to shift down and to the left.

D) the IS curve to shift up and to the right.

27. Which of the following macroeconomic variables is procyclical and coincident with the business
cycle?

A) Residential investment

B) Nominal interest rates

C) Industrial production

D) Unemployment

28. Which of the following macroeconomic variables is acyclical?
A) Real interest rates

B) Unemployment

C) Money supply

D) Consumption

29. The value of a producer's output minus the value of the inputs it purchases from other producers
is called the producer's

A) surplus.

B) profit.

C) value added.

D) gross product.
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30. If the steady-state capital-labor ratio is equal to the Golden Rule capital-labor ratio, then in the
steady state,

A) output per worker equals investment per worker.

B) output per worker equals depreciation per worker.

C) investment per worker is as large as possible.

D) consumption per worker is as large as possible.

31. A Lorenz curve plots

A) unemployment and inflation.

B) job openings and the unemployment rate.
C) the distribution of labor supply.

D) the distribution of income.

32. The per-worker production function in the Solow model assumes

A) constant returns to scale and increasing marginal productivity of capital.

B) constant returns to scale and diminishing marginal productivity of capital.
C) increasing returns to scale and diminishing marginal productivity of capital.
D) decreasing returns to scale and diminishing marginal productivity of capital.

33. If an American construction company built a road in Kuwait, this activity would be

A) excluded from U.S. GNP.
B) fully included in U.S. GDP.
C) included in U.S. GNP only for that portion that was attributable to American capital and labor.

D) included in U.S. GDP but not in U.S. GNP.

34. Tobin's q is equal to

A) the ratio of capital's market value to its replacement cost.
B) the ratio of capital's replacement cost to its market value.
C) the expected after-tax real interest rate.

D) the stock market value of a firm.

S EHETR BREE Awa o BR255 -
1. Aneconomy has government purchases of 1000. Desired national saving and desired investment
are given by
S¢ =200+ 5000r + 0.10Y - 0.20G
9= 1000 - 4000r
When the full-employment level of output equals 5000, then the real interest rate that clears the
goods market will be

2. Suppose output is $35 billion, government purchases are $10 billion, desired consumption is $15
billion, and desired investment is $6 billion. Desired savings is equal to billion.

3. What is the unempldyment rate if there are 170 million people employed, 25 million people
unemployed, and 35 million not in the labor force?

4. 1f nominal money supply grows 3% and real money demand grows 8%, the inflation rate is
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1. Refer to the accompanying graph. If this firm is a price taker and the price of each unit of output

is $9, then at its profit-maximizing level of output, this firm will earn
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Suppose Campus Books, a profit-maximizing firm, is the only supplier of the textbook for a
given class. The marginal cost of supplying each boolk is constant and equal to $10, and Campus
Books has no fixed costs. The accompanying table shows the reservation prices of the eight
students enrolled in the class.

Customer Reservation Price
($/Book)

60
54
48
42
36
30
24
18
If Campus Books is permitted to charge 2 prices, and the bookstore knows customers with a
reservation price above $30 never bother with coupons, whereas those with a reservation price of
$30 or less always use them, then in total the bookstore will sell books.

HKlg|<|ala|wn|®m|O

Suppose Grandis and Immanis are the only two companies that sell the product whose market
demand curve is shown in the accompanying figure. For both companies, both average total cost
and marginal cost are constant and equal to $2 (47C = MC = $2). Suppose Grandis and Immanis
agree to collude by both charging the price a monopolist would charge and each producing half of
the monopolist’s profit-maximizing level of output. If they both abide by this agreement, then
each will earn a profit of per day.
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Guantity (Units Per Day)

70 80

4, Two firms, Industrio and Capitalista, have access to five production processes, each of which has
a different cost and gives off a different amount of pollution. The daily costs of the processes and
the corresponding number of tons of smoke emitted are shown in the accompanying table. Both
firms currently use process A, and each emits 4 tons of smoke per day. The government is
considering two plans to reduce pollution: requiring both firms to reduce pollution by 25 percent
or auctioning pollution permits. Each permit would entitle the owner to emit one ton of smoke

per day. Without a permit, no smoke can be emitted.

Process (smoke/day) A (4 tons/day) B (3 tons/day) | C (2 tons/day) | D (1 tons/day) E (0 tons/day)
Cost to Industrio (3/day) $ 350 $ 400 $ 500 $700 $ 1,000
Cost to Capitalista ($/day) 225 250 290 400 600

Suppose the government decides to auction 6 permits. The government conducts the auction by
starting at a price of $1 and asking how many permits each firm wants to buy at that price. If the
total is more than 6, it raises the price by $1 and asks again until the total quantity demanded falls

to 6. Under this system, each permit will sell for

5. Behavioral Economics introduces more realistic assumptions about human motivation and
cognition. Please list five documented “heuristic” or “bias” for decision-making in behavioral

economics. (F 3 L & 7T)
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L. One of the basic relationships in interest rate theory is that, other things held constant, for a given
change in the required rate of return, the the time to maturity, the the change in price.
(A) shorter; smaller. (B) shorter; larger. (C) longer; smaller. (D)longer; greater.

2. Which of the following events would make it more likely that a company would choose to call its
outstanding callable bonds?

(A) A reduction in market interest rates.

(B) The company’s bonds are downgraded.

(C) An increase in the call premium.

(D) Statements (A) and (B) are correct.

(E) Statements (A) and (C) are correct.

3. Which one of the following statements is correct in relation to independent projects?

(a) The internal rate of return cannot be used to determine the acceptability of a project that has financing
type cash flows.

(b) A project with investing type cash flows is acceptable if its internal rate of return exceeds the required
return.

(c) A project with financing type cash flows is acceptable if its required return exceeds the internal rate
of return.

(d) The net present value profile is upsloping for projects with both investing and financing type cash
flows.

(e) Projects with financing type cash flows are acceptable only when the internal rate of return is
negative.

(A) (a), (b), and (¢) only (B) (b), and (c) only (C) (b), (c), and (d) only

(D) (b), (c), and (e) only  (E) (b), (¢), (d), and (e) only.

4. Which one of the following statements is correct?

(A) Unexpected returns can be either positive or negative in the short term but tend to be zero over the
long-term.

(B) The expected return minus the unexpected return is equal to the total return.

(C) Over time, the average return is equal to the unexpected return.

(D) The expected return includes the surprise portion of news announcements.

5. Mr. Wang believes he excels at picking stock winners and thus trades frequently. Which characteristic
does he most likely represent?

(A) Overconfidence

(B) Confirmation bias

(C) Frame dependence

(D) Representativeness heuristic

(E) Break-even effect

6. According to put-call parity, the present value of the exercise price is equal to the:
(A)stock price plus the put premium minus the call premium.
(B) stock price plus the call premium minus the put premium.
(C) call premium plus the put premium minus the stock price.
(D) put premium plus the call premium minus the stock price.
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7. In the Black-Scholes option pricing model, the symbol "c" is used to represent the standard deviation
of the:

(A) option premium on a call with a specified exercise price.

(B) rate of return on a risk-free asset.

(C) volatility of the risk-free rate of return.

(D) rate of return on the underlying asset.

(E) option premium on a put with a specified exercise price.

8. Which one of the following statements related to cash dividends is correct?

(A) Regular cash dividends reduce paid-in capital.

(B) The dividend yield expresses the annual dividend as a percentage of net income.

(C) The last date on which you can purchase shares of stock and still receive the next dividend is the date
that is two business day(s) prior to the date of record.

(D) All else equal, the market value of a stock will tend to decrease by roughly the after tax value of the
dividend on the ex-dividend date.

(E) Declaration date is used to determine the names of shareholders who will receive a dividend
payment.

9. The basic lesson of M&M theory is that the value of a company is dependent upon:
(A) the company's capital structure.

(B) size of the stockholders' claims.

(C) minimizing the marketed claims.

(D) the amount of the company's marketed claims.

(E) the total cash flows of that company.

10. The length of time between the purchase of inventory and the receipt of cash from the sale of that
inventory is called the:

(A) inventory period.

(B) accounts receivable period.

(C) accounts payable period.

(D) operating cycle.

(E) cash cycle.

11. You should lease rather than buy when the:

(A) asset is fully depreciated.

(B) annual loan payments for a purchase are less than the annual lease payments.
(C) IRR from leasing is zero

(D) IRR from leasing exceeds the risk-free rate of return.

(E) NAL from leasing is positive.

12 Which one of the following statements is correct?

(A) Historical returns support the financial markets appear to be highly efficient because, on average,
they outperform professional money managers.

(B) Portfolio managers with tenures greater than 10 years, consistently outperform the market.

(C) The performance of professional money managers improves the longer the investment period.

(D) Mutual funds that are actively managed outperform index funds over the long term.

(E) The number of mutual funds outperforming the Vanguard 500 Index Fund over a 10-year period is
steadily rising.
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13. Which one of the following statements is correct?

(A) The ABC approach to inventory management is based on the concept that inventory should arrive at
the time it is needed in the manufacturing process.

(B) The ABC approach to inventory management is based on the concept that a small percentage of
inventory items represents a large percentage of inventory cost.

(C) The Economic order quantity (EOQ) model is designed to determine how much total inventory a firm
needs during any one year.

(D) Low inventory turnover rates is a characteristic of a just-in-time inventory system.

(E) At the optimal order quantity size, the carrying costs are equal to zero.

14. Which one of the following statements correctly applies to a merger?

(a) The acquired firm is completely absorbed and ceases to exist as a separate legal entity.

(b)The acquiring firm does not have to seck approval for the merger from its shareholders.

(c) The shareholders of the target firm must approve the merger.

(d) Seeking approval of the shareholders of both firms is a disadvantage of a merger

(e) For financial statement purposes, goodwill created by an acquisition must be reviewed each year and
amortized to the extent that it has lost value:

(A) @)(b)(c)  (B) (b)(d)e) (C) ()(d)(e) (D) (e)(d)(e) (E) (a)c)(d) (e)

15. Which one of the following statements is correct?

(a) Call options tend to be less sensitive to the passage of time than are put options

(b) An increase in time to expiration will decrease the value of an American call option

(c) Assume the risk-free rate increases. This change will increase the value of call options and decrease
the value of put options on shares of stock.

(d) Increasing the time to maturity may not increase the value of a European put.

(e) The value of a put option increases when the standard deviation of the returns on the underlying stock

increase.
(A) (@)b)(e) (B) (b)(d)(e) (C) (a)d)(e) (D) (c)(d)e) (E) (a)c)(d) (e)

=~ 3 EAR (320 o)

.. SYS company just paid an annual dividend of $2 a share and is expected to increase that amount by 4
percent per year. How much should you expect to pay per share if the market rate of return for this
type of security is 10 percent at the time of your purchase? (5 %)

2. Suppose we have the following projections for three stocks:

State of Economy | Probability of Rate of return if state occurs
State of Economy  I"gyoci A Stock B Stock C

Good 0.2 10% 20% -1%

Not change 0.5 5% 10% 2%

Bad 0.3 -2% -8% 3%

If you have a portfolio SYS with amount invested on Stock A is NT$30,000, Stock B is NT$50,000 and

Stock C is NT$20,000, please calculate:
(a) The Beta of Stock A'is 0.8, Stock B is 1.5, and Stock C is 0.6. What is the beta of this portfolio? Does

this portfolio have more or less systematic risk than an average asset? Why? (4 %)
(b) The risk-free rate is currently 2 percent and the expected return of an average risky asset is 4%,
which stocks is overvalued? which stocks is undervalued? Why? (Please use Capital Asset Pricing

Model (CAPM)) (6 %)
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3. SYS stock is selling for $33 a share. A two-month, $30 call on this stock is priced at $3.5. Risk-free
assets are currently returning 0.1 percent per month. What is the price of a two-month put on SYS
stock with a strike price of $30? (5 4+)
=~ FE&M(HE354)
. SF#%3f Fama-French 2 B F 8% » 5B H R X B F BT ELH - (T H)
2. (a) 3 % Sparpe ratio (3% 7% % % £ %30 3 )
(b) 4 F Sparpe ratio 7 & % & G2 BF A AT RH1? (4 o)
3. RREMBREBRLERIFAERERTEHERT RS RARIER M ROE LT L ENE
B-0Gn)
4. (a)3F 1 H Bl & SU T4 3 3 47 #2 B ¥ 32 % (Prospect Theory)? (4 4~)
(b)3% & — & %4 3 3 AR FE 4% 4 24 R (Disposition Effect)?(3 %)
5. (a)3F 1R M B R X F 4 il 3 A2 4 & A7 357 4k (Capital Market Line; CML) (5 4)
(b)3F i — 25 3R WA 47 35 oy Bk 443 Bk & 32 (Two fund separation theorem) (4 4)
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